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PHYSICS

BOOKS - MODERN PUBLICATION

SEMICONDUCTOR DEVICES

1. Figure Shows a diode connected to an
external resistance and an e.mf. Assuming

that the barrier potential developed in diode


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_LUHRlmMafLCr

is 0.5 V, obtain the value of current in the

circuit in milliampere.

o Watch Video Solution

2. The diode used in the circuit shown in the
adjacent figure has a constant voltage drop of
0.5V at all currents and a maximum power

rating of 100mW.What should be the value of


https://dl.doubtnut.com/l/_LUHRlmMafLCr
https://dl.doubtnut.com/l/_bGVgrcQoRmon

resistor R connected in series with the diode

for obtaining maximum current?

o Watch Video Solution

3. Assume that the silicon diode in the circui
shown in fig. requires a minimum current of

1TmA to be above the knee point (0.7V) of its I-V


https://dl.doubtnut.com/l/_bGVgrcQoRmon
https://dl.doubtnut.com/l/_GQnaSZ5yI2vk

characteristics. Aslo assume that the voltage
across the diode is independent of current
above the knee point.

If Vg = 5V, what should be the maximum

value of R so that the voltage is above the

knee point?

° Watch Video Solution



https://dl.doubtnut.com/l/_GQnaSZ5yI2vk
https://dl.doubtnut.com/l/_mUBO7ItfrOen

4. Assume that the silicon diode in the circui
shown in fig. requires a minimum current of
1TmA to be above the knee point (0.7V) of its I-V
characteristics. Aslo assume that the voltage
across the diode is independent of current
above the knee point.

If VB = BV, what should be the value of R to

estabilish the current of 5mA in the circuit?

2] OFy

=ial



https://dl.doubtnut.com/l/_mUBO7ItfrOen

| & Watch Video Solution

5. Assume that the silicon diode in the circui
shown in fig. requires a minimum current of
1TmA to be above the knee point (0.7V) of its I-V
characteristics. Aslo assume that the voltage
across the diode is independent of current
above the knee point.

What is the power dissipated in the resistance

R and in the diode, when a current of 5mA


https://dl.doubtnut.com/l/_mUBO7ItfrOen
https://dl.doubtnut.com/l/_9qP4gVCt2mdZ

flows in the circuit at V3 = 6V?

° Watch Video Solution

6. Assume that the silicon diode in the circui
shown in fig. requires a minimum current of
1mA to be above the knee point (0.7V) of its |-V

characteristics. Aslo assume that the voltage


https://dl.doubtnut.com/l/_9qP4gVCt2mdZ
https://dl.doubtnut.com/l/_NRt0BrzW8BlD

across the diode is independent of current
above the knee point.
If R = 1k(Q, what is the minimum voltageVp

required to keep the diode above the knee

point?

° Watch Video Solution



https://dl.doubtnut.com/l/_NRt0BrzW8BlD

7. In a half wave rectifier, a p-n junction diode
with internal resistance 20 ohm is used. If the
load resistance of 2 kiloohm is used in the
circuit, then find the efficiency of this half wave

rectifier.

o Watch Video Solution

8. For a transitor working as common base
amplifer, current gain is 0.96. If the emitter

current is 7.2 mA, calculate the base current.

| & I


https://dl.doubtnut.com/l/_OANmcRclwwN6
https://dl.doubtnut.com/l/_rkXipbAdp7ki

| ¥ Watch Video Solution |

9. For a common emitter amplifier , current
gain is 70 . If the emitter is 8.8 mA , calculate
the collector and base current . Also calculate
current gain , when transistor is worked on

common base amplifier.

o Watch Video Solution

10. The base current of a transistor is105uA

and collector current is 2.05mA.


https://dl.doubtnut.com/l/_rkXipbAdp7ki
https://dl.doubtnut.com/l/_28igEXtr0cqE
https://dl.doubtnut.com/l/_AzAXacFttVDO

Determine the value of 3, I, anda

o Watch Video Solution

1. A change of 20uA in the base current
produces a change of 0.5mA in the collector

current. Calculate 3,

o Watch Video Solution

12. In a silicon transistor, a change of 7.79 mA

in the emitter current produces a change of


https://dl.doubtnut.com/l/_AzAXacFttVDO
https://dl.doubtnut.com/l/_dHWAMhwmMZjG
https://dl.doubtnut.com/l/_ggdcrL8SdQmw

7.7 mAin the collector current. What change in
the base current is necessary to produce an

equivalent change in the collector current?

° Watch Video Solution

13. For a transistor amplifier, the collecor load
resistanceR; = 2kohm and the input
resistanceR; = 1lkohm . If the current gain is

50, calculate voltage gain of the amplifier.

° Watch Video Solution



https://dl.doubtnut.com/l/_ggdcrL8SdQmw
https://dl.doubtnut.com/l/_Q8OXSsneCGjG
https://dl.doubtnut.com/l/_Wh50nAeO4kDR

14. In a silicon transistor, the base current is
changed by 20uA. This results in a change of
0.02 V in base to emitter voltage and a change
of 2mA in the collector current.

Find the input resistance, f,. and

transconductance of the transistor g,,.

o Watch Video Solution

15. In a silicon transistor, the base current is
changed by 20uA. This results in a change of

0.02 V in base to emitter voltage and a change


https://dl.doubtnut.com/l/_Wh50nAeO4kDR
https://dl.doubtnut.com/l/_HqGNWyLg94Rw

of 2mA in the collector current.
This transistor is used as an amplifier in CE
configuration with load resistance 5k{). What

is the voltage gain of the amplifier.

o Watch Video Solution

16. The input resistance of a silicon transistor
is 665() when base current is changed by
15uA, the collector current changes by 2mA.

In a common emitter amplifier load resistance


https://dl.doubtnut.com/l/_HqGNWyLg94Rw
https://dl.doubtnut.com/l/_mltVcvh99qB7

is 5k(). Calculate transconductance (g,,) &

voltage gain (A,) of the amplifier.

o Watch Video Solution

17. A transistor is used in common emitter
mode in an amplifier circuit.When a signal of
24 mV (millivolt) is added to base emitter
voltage, the base current changes by 32uA
(micro ampere) and collector current by 3.6

mA (milli ampere) and the load resistance is


https://dl.doubtnut.com/l/_mltVcvh99qB7
https://dl.doubtnut.com/l/_gjO4J4T1Hqb0

4.8k€2 (kilo ohm). Calculate trans conductance

Im

o Watch Video Solution

18. A transistor is used in common emitter
mode in an amplifier circuit.When a signal of
24 mV (millivolt) is added to base emitter
voltage, the base current changes by 32uA
(micro ampere) and collector current by 3.6
mA (milli ampere) and the load resistance is

4.8k} (kilo ohm). Calculate voltage gain.

| e |


https://dl.doubtnut.com/l/_gjO4J4T1Hqb0
https://dl.doubtnut.com/l/_Nx7ON8UFtL2D

& Wwatch Video Solution I

19. In the circuit Fig. the value of beta is 200.
FindIB, VC’E7 VBE and VBCS when
I- = 2.5mA. The transistor is in active, cut off

or saturation state.
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Fig. 239

o Watch Video Solution



https://dl.doubtnut.com/l/_Nx7ON8UFtL2D
https://dl.doubtnut.com/l/_aa7OaOxRaz9O
https://dl.doubtnut.com/l/_pCZRvzfNTIVw

20. A potential barrier of 0.3 V exists across a
P-N junction: If the depletion region is
3 x 10~ " m wide , what is the intensity of the

electric field in this region?

o Watch Video Solution

21. A potential barrier of 0.3 V exists across a P-
N junction: If an electron with speed
4 x 10°ms ' approaches this P-N junction

from the N-side, the find the speed with which


https://dl.doubtnut.com/l/_pCZRvzfNTIVw
https://dl.doubtnut.com/l/_1SKFo7ytkvOJ

it will enter the P-side. Given mass of electron

9.1 x 10 % kg

° Watch Video Solution

22. In figure what is the voltage needed to
maintain 15V across the load resistance R;of
2K, assuming that the series resistance R is
2002 and the zener requires a minimum

current of 10mA to work satisfactorily? What is


https://dl.doubtnut.com/l/_1SKFo7ytkvOJ
https://dl.doubtnut.com/l/_4BbsRCixnLCT

the zener rating required?

o Watch Video Solution

23. In a p-n-p transistor circuit, the collector
current is 10mA , If 90% of the electrons
emitted reach the collector , what is base

current ?

° Watch Video Solution



https://dl.doubtnut.com/l/_4BbsRCixnLCT
https://dl.doubtnut.com/l/_l585FVHJYdeK

24. A n-p-n transistor is connected in common
emitter configuration in which collector supply
is 9V and the voltage drop across the load
resistance of 7002 connected to the collector
circuit i1s 0.7V. If the current amplification
factor alpha is 25/26, determine collector
emitter voltage and base current. If the input
resistance of the transistor is 1002, calculate

the voltage gain and the power gain.

o Watch Video Solution



https://dl.doubtnut.com/l/_l585FVHJYdeK
https://dl.doubtnut.com/l/_bc1Kjv9yaerm

25. An amplifier is represented by the circuit
shown in Fig. Here 7; is the input resistance of
the amplifier and the voltage V; is appearing
across it. This voltage is amplified by a factor
Ay and appears across the load as voltageV

An external voltage V (s) is applied at the
input terminals of the amplifier via series
resistance R (S). What will be the apparent

gain Ay ( =V, /V,) of the ampilifier in terms


https://dl.doubtnut.com/l/_m9xeyjHa1m37

of Ay, Rg and r;.

o Watch Video Solution

26. What do you understand by potential

barrier?

o Watch Video Solution



https://dl.doubtnut.com/l/_m9xeyjHa1m37
https://dl.doubtnut.com/l/_kLS6vsFdUtgd
https://dl.doubtnut.com/l/_RtWCOOFSlC9n

27. Explain how the width of depletion layer in
p-n junction diode changes when the junction
is

reverse biased.

o Watch Video Solution

28. Can the potential barrier across a p-n
junction be measured by simply connecting a

voltmeter across the junction?

o Watch Video Solution



https://dl.doubtnut.com/l/_RtWCOOFSlC9n
https://dl.doubtnut.com/l/_duFwr3xTXn1x

29. What do you mean by depletion region in a

p-n junction ?

o Watch Video Solution

30. How does the junction width change when

a p-n junction is forward biased?

o Watch Video Solution



https://dl.doubtnut.com/l/_sbTPG2UDrG8Y
https://dl.doubtnut.com/l/_jG4SU4hC2uSt

31. What is the effect of forward biasing on the

resistance of a p-n junction?

o Watch Video Solution

32. Which type of biasing gives a

semiconductros diode vary high resistance?

o Watch Video Solution



https://dl.doubtnut.com/l/_BPawOHk6IEyQ
https://dl.doubtnut.com/l/_yUC4dtAnr5wx

33. Fill in the blanks:

When a p -n junction is forward biased, then
the motion of charge carriers across the
barrier is due to ... (drift, diffusion) and
when it is reverse biased, then the motion of

charge carriers is due to..... (drift, diffusion).

o Watch Video Solution

34. Fill in the blanks:

An ideal p-n junction diode conducts, when


https://dl.doubtnut.com/l/_wCZesal4weWA
https://dl.doubtnut.com/l/_qnYXAG29qOoL

biased and does not conduct, when

.................... Biased. (Forward, reverse)

° Watch Video Solution

35. Draw a circuit diagram with a p-n junction

in forward bias.

o Watch Video Solution

36. Draw a circuit diagram with a p-n junction

atreverse bias.


https://dl.doubtnut.com/l/_qnYXAG29qOoL
https://dl.doubtnut.com/l/_JW4scErm1Cwa
https://dl.doubtnut.com/l/_NyMdYubs5Cv6

° Watch Video Solution

37. In the figure is the diode D forward or

reverse biased?
)

=10 -—Mm—_m_up
A

o Watch Video Solution

38. In the figure is the diode D forward or

reverse biased?


https://dl.doubtnut.com/l/_NyMdYubs5Cv6
https://dl.doubtnut.com/l/_Ux9RnRavTkC6
https://dl.doubtnut.com/l/_m69wifcvziqo

o Watch Video Solution

39. Under what condition does a junction

diode work as open switch?

o Watch Video Solution

40. Wha tis a zener diode? How is it

symbollically represented? With the help of a


https://dl.doubtnut.com/l/_m69wifcvziqo
https://dl.doubtnut.com/l/_3MEM9gBZKywM
https://dl.doubtnut.com/l/_YJwZBArWTS9h

circuit diagram, explain the use of zener diode

as a voltage stabilizer

° Watch Video Solution

41. How reverse current suddenly increases at

the break down voltage in case of a junction

diode?

° Watch Video Solution

42.What is Zener breakdown?


https://dl.doubtnut.com/l/_YJwZBArWTS9h
https://dl.doubtnut.com/l/_dZdBPCDFJp46
https://dl.doubtnut.com/l/_C7ERVWnaqulR

° Watch Video Solution

43. Draw the
symbol and
the reverse bias |-V characterstics of a zener
diode. Explain briefly, which property of the
characterstics enables us to use zener diode

as voltage regulator.

o Watch Video Solution



https://dl.doubtnut.com/l/_C7ERVWnaqulR
https://dl.doubtnut.com/l/_cWLQT99O9Xp8

44. \Write in brief about Photo-diodes.

o Watch Video Solution

45. How is the band gap E, of a photodiode
related to the maximum wavelength JA,, that

can be detected by it?

o Watch Video Solution



https://dl.doubtnut.com/l/_sLtFJqzPJJWh
https://dl.doubtnut.com/l/_JZ3VPtrmn5F0

46. Draw a circuit diagram to show how a

photodiode is biased.

° Watch Video Solution

47. What is light emitting diode (LED)?

° Watch Video Solution

48. State the factors, which controls

wavelength of light, emitted by a LED.



https://dl.doubtnut.com/l/_ZeRni8p9ARif
https://dl.doubtnut.com/l/_hbAZ33ReDp1m
https://dl.doubtnut.com/l/_2X4cpVlUhLFe

o Watch Video Solution

49, State the factors, which controls

wavelength of light, emitted by a LED.

o Watch Video Solution

50. Name the diode for which the output

voltage is a regulated voltage.

o Watch Video Solution



https://dl.doubtnut.com/l/_2X4cpVlUhLFe
https://dl.doubtnut.com/l/_SD8unYlfkVM3
https://dl.doubtnut.com/l/_0rsdy34zfsYJ
https://dl.doubtnut.com/l/_HgTXIXDAD6hT

51. Name the diode that emits spontananeous

radiation, when forward biaed.

° Watch Video Solution

52. What is a solar cell?What is its working
principle?Write short note on the makingof

solarcells and also give its uses.

° Watch Video Solution



https://dl.doubtnut.com/l/_HgTXIXDAD6hT
https://dl.doubtnut.com/l/_3rMX979gi6fq

53. Write the full form of transistor.

o Watch Video Solution

54. Why transistor is so called?

o Watch Video Solution

55. How P-N-P and N-P-N transistor are

represented symbollically?

° Watch Video Solution



https://dl.doubtnut.com/l/_ALL8oofABrKE
https://dl.doubtnut.com/l/_U3GRzrOHhnmn
https://dl.doubtnut.com/l/_OI3rBxbx6sCx

56. Can two P-N junction diodes back to back

works as P-N-P transistor?

o Watch Video Solution

57. In the figure the collector forward or

reverse biased?


https://dl.doubtnut.com/l/_OI3rBxbx6sCx
https://dl.doubtnut.com/l/_FbLyWzM1TFI8
https://dl.doubtnut.com/l/_dyQt5VfBXzQs

° Watch Video Solution

58. In the figure the emitter forward bias or

reverse bias?


https://dl.doubtnut.com/l/_dyQt5VfBXzQs
https://dl.doubtnut.com/l/_Yq91wXj8tROm

o Watch Video Solution

59. In the figure the collector forward or

reverse biased?


https://dl.doubtnut.com/l/_Yq91wXj8tROm
https://dl.doubtnut.com/l/_p8EVNAkUVLdI

o Watch Video Solution

60. What is the relation among emitter
current (Ig) collector current (I¢) and base
current (Ig) for a transistor circuit? Which

one of the three has the smallest magnitude?

o Watch Video Solution



https://dl.doubtnut.com/l/_p8EVNAkUVLdI
https://dl.doubtnut.com/l/_F31fD9CwUnkr

61. Fill in the blanks: The base of trasistor is
always ........... and ... doped, compared to
the emitter and collector. (thinner, thicker,

lightly, heavily)

° Watch Video Solution

62. Fill in the blanks: For using a transistor as
an amplifier, the base emitter junction is

................ Biased and the base collector junction


https://dl.doubtnut.com/l/_F31fD9CwUnkr
https://dl.doubtnut.com/l/_d0aNh6ZQeTBO
https://dl.doubtnut.com/l/_OZ6KybIJzh8g

1S biased. (forward, reverse, forward,

reverse)

° Watch Video Solution

63. Define input resistance of a transistor used

in its common emitter configuration.

o Watch Video Solution

64. Define d.c. current gain in common base

and common emitter amplifier. Also find a


https://dl.doubtnut.com/l/_OZ6KybIJzh8g
https://dl.doubtnut.com/l/_k2yXv1qXEfSS
https://dl.doubtnut.com/l/_syEhFfXPPX3z

relation between them.

o Watch Video Solution

65. Write the relation between current gains o

and 8

° Watch Video Solution

66. define the trans-conductance of a

transistor.

o Watch Video Solution



https://dl.doubtnut.com/l/_syEhFfXPPX3z
https://dl.doubtnut.com/l/_nQC3dBCjvVRo
https://dl.doubtnut.com/l/_OwspnhN2n75W

67. What kinds of biasing are required to the
collector and base of a transistor in a common

emitter amplifier?

o Watch Video Solution

68. Why is common emitter amplifier preferred

over common base amplifier?

° Watch Video Solution



https://dl.doubtnut.com/l/_OwspnhN2n75W
https://dl.doubtnut.com/l/_cp6w63LmS7q6
https://dl.doubtnut.com/l/_L57bocWCZonn
https://dl.doubtnut.com/l/_jNOSFJR4oMqV

69. Which one will you prefer, a common base

or a common emitter amplifier?

o Watch Video Solution

70. Portable radio receiver sets are generally

not made with electron tube circuits. Why?

° Watch Video Solution



https://dl.doubtnut.com/l/_jNOSFJR4oMqV
https://dl.doubtnut.com/l/_YDX4nx7SkOp4

71. Explain the advantages and disadvanatges

of semiconducting devices as compared to

vaccum tube devices.

o Watch Video Solution

72. State two disadvantages

semiconductors devices.

of

° Watch Video Solution



https://dl.doubtnut.com/l/_wod7t0JLkLos
https://dl.doubtnut.com/l/_hkdZT1Myh2Mz

73. What is an integrated circuit?

o Watch Video Solution

74. Explain the two processes involved in the
formation of a p-n junciton diode. Hence

defien the term"barrier potential".

o Watch Video Solution



https://dl.doubtnut.com/l/_CNRTLtVRLBV0
https://dl.doubtnut.com/l/_imN3hMrzZRQW

75. Why can't we take one slab of p-type
semiconductor and physically join it to
another slab of n-type semiconductor to get a

p-njunction?

° Watch Video Solution

76. Explain the terms depletion layer and

potential barrier for a junction diode.

o Watch Video Solution



https://dl.doubtnut.com/l/_6O3polxPngYn
https://dl.doubtnut.com/l/_PJaNP9hJg83p
https://dl.doubtnut.com/l/_jigMxDUkKQyV

77. What do you mean by depletion region in a

p-n junction ?

o Watch Video Solution

78.In the depletion region of a diode

o Watch Video Solution

79. Explain how the depletion layer and barrier

potential are formed in pn junction diode ?

| & I


https://dl.doubtnut.com/l/_jigMxDUkKQyV
https://dl.doubtnut.com/l/_ikU1kzGAxS9k
https://dl.doubtnut.com/l/_CYps3Z5yY3wp

| ¥ Watch Video Solution |

80. How does the width of the depletion
region of a p-n junction vary if the reverse bias

applied to it decreases?

o Watch Video Solution

81. The resistance of a p-n junction is low,
when forward biased and is high, when reverse

is biased. Explain.

o Watch Video Solution



https://dl.doubtnut.com/l/_CYps3Z5yY3wp
https://dl.doubtnut.com/l/_mJfW8DKGcXhR
https://dl.doubtnut.com/l/_DEhVAIMZLwyn

82. How is forward biasing different from

reverse biasing in a p-n junction diode?

o Watch Video Solution

8. Explain forward bias and reverse bias of the

junction diode.

o Watch Video Solution



https://dl.doubtnut.com/l/_DEhVAIMZLwyn
https://dl.doubtnut.com/l/_joCGqqqaOdZa
https://dl.doubtnut.com/l/_AzeYyuibwoy9

84. In the following circuits, which of the
diodes is forward-biased and which is reverse-

biased and why?

CoLLEE I L Lk

T

o Watch Video Solution

85. In the following circuits, which of the

diodes is forward-biased and which is reverse-


https://dl.doubtnut.com/l/_MDbRP5iDs5NJ
https://dl.doubtnut.com/l/_ntdVGKTjybtj

biased and why?

o Watch Video Solution

86. Which type of biasing gives a

semiconductros diode vary high resistance?

o Watch Video Solution



https://dl.doubtnut.com/l/_ntdVGKTjybtj
https://dl.doubtnut.com/l/_gfRUbEnhfzfy

87. Show in figure two p-n junction diodes
along-with a resistanc R and a d.c. battery E.

Indicate the path and direction of flow of

appreciable current in the circuit.

° Watch Video Solution



https://dl.doubtnut.com/l/_nCfjhlAnUKGW

88. The following table provides the set of
values, of V and |, obtained for a given diode.
Assuming the characteristics to be nearly
linear, over this range, calculate the forward

and reverse bias resistance of the given diode.

° Watch Video Solution

89. Draw the graph showing the variation of

current with voltage for a p-n junction diode.


https://dl.doubtnut.com/l/_px9VeAEql6ud
https://dl.doubtnut.com/l/_vFNrqmARU0LA

° Watch Video Solution

90. Draw the voltage current characterstics of

a p-n junction bias?

o Watch Video Solution

91. A diode is connected to 220V (r.m.s) a.c. in

series with a capacitor as shown in the figure.


https://dl.doubtnut.com/l/_vFNrqmARU0LA
https://dl.doubtnut.com/l/_yT2i6b7k8rQH
https://dl.doubtnut.com/l/_IW8FNAcvyBnf

What is the voltage V across the capacitor is

R
o

o Watch Video Solution

92. Draw the circuit diagram of a half wave

rectifier using a junction diode.

° Watch Video Solution



https://dl.doubtnut.com/l/_IW8FNAcvyBnf
https://dl.doubtnut.com/l/_gQuibqfsrmXF

93. Draw a labelled circuit diagram of a full

wave rectifier using junction diodes.

° Watch Video Solution

94. With the help of circuit diagram explain

working of junction diode as full wave rectifier.

o Watch Video Solution



https://dl.doubtnut.com/l/_xI6b5kOz04GA
https://dl.doubtnut.com/l/_WwS4DhkxBWN2

95. State the function of a zener diode in a

circuit.

° Watch Video Solution

96. Which special type of diode can act as a
voltage regulator? Give the symbol of this
diode and draw the general shape of its V-l

characteristics.

o Watch Video Solution



https://dl.doubtnut.com/l/_swWdMsI0Lfg2
https://dl.doubtnut.com/l/_1oZT2WZhZXLh
https://dl.doubtnut.com/l/_116LYC5ogG88

97. Write briefly, how a Zener diode acts as

voltage regulator.

° Watch Video Solution

98. How do we choose the semiconductor, to
be used in LED, if the emitted radiation is to be

in the visible region?

° Watch Video Solution



https://dl.doubtnut.com/l/_116LYC5ogG88
https://dl.doubtnut.com/l/_Afs3wxdJtB8k

99. The current in the forward bias is known to
be more (-mA) than the current in the
reverse bias (~uA). What is the reason then

to operate the photodiodes in reverse bias?

° Watch Video Solution

100. What is light emitting diode (LED)?

° Watch Video Solution



https://dl.doubtnut.com/l/_ivsn8HCX1H7E
https://dl.doubtnut.com/l/_hFe92nrum0qP

101. What the help of a diagram, show that
biasing of a light emitting diode (LED). Give its
two advantages over conventional

incandescent lamps.

o Watch Video Solution

102. With the help of an activity, explain the
method of inducing an electric current in a

coil with a moving magnet. Mention one


https://dl.doubtnut.com/l/_xtSfs5yk78hK
https://dl.doubtnut.com/l/_XMbhS3mmqcK6

practical application of electromagnetic

induction.

° Watch Video Solution

103. Represent sybolically Zener diode,

photodiode, n-p-n and p-n-p transistors.

o Watch Video Solution

104. Write the function of base region of a

transistor. Why is the region made thin and


https://dl.doubtnut.com/l/_XMbhS3mmqcK6
https://dl.doubtnut.com/l/_SWCE67bTL6PR
https://dl.doubtnut.com/l/_iXMaVjnxRYkj

slightly doped?

o Watch Video Solution

105. How does the collector current change in
a junction transistor, if the base region has

larger width?

o Watch Video Solution

106. In a transistor, forward bias is always

small as compared to the reverse bias. Why?


https://dl.doubtnut.com/l/_iXMaVjnxRYkj
https://dl.doubtnut.com/l/_Y1Z6y505GzfA
https://dl.doubtnut.com/l/_S2ZZnHi018u1

° Watch Video Solution

107. In a transistor, doping level in base is
increased slightly. Now will it affect

collector current?

° Watch Video Solution

108. In a transistor, doping level in bse is
increased slightly. Now will it affect

base current?

| e |


https://dl.doubtnut.com/l/_S2ZZnHi018u1
https://dl.doubtnut.com/l/_DPcLxsaUHnxC
https://dl.doubtnut.com/l/_QhvNS0ujWpJJ

& Wwatch Video Solution I

109. Explain the following A transistor is a

temperature - senstive device.

o Watch Video Solution

110. Explain the following A transistorised
circuit starts working immediately after the
circuit is switched on, whereas a vacuum tube

circuit takes some time to start working.

l ° Watch Video Solution


https://dl.doubtnut.com/l/_QhvNS0ujWpJJ
https://dl.doubtnut.com/l/_3WUmJeRl7PfA
https://dl.doubtnut.com/l/_22nz5RhYX9M2

111. How will you test in a simple way whether

the transistor is spoiled or in working order?

o Watch Video Solution

112. What is transistor ? Give the symbols of n-

p-n and p-n-p transistor.

° Watch Video Solution



https://dl.doubtnut.com/l/_22nz5RhYX9M2
https://dl.doubtnut.com/l/_W0Xjz21u1BWI
https://dl.doubtnut.com/l/_TIFb7k1biS9W

113. What is transistor? Give symbols of p-n-p

and n-p-n transistor.

o Watch Video Solution

114. Discuss the working of p-n-p transistor as

an amplifier in common emitter mode.

o Watch Video Solution



https://dl.doubtnut.com/l/_rrGoAD4hN6mV
https://dl.doubtnut.com/l/_ULp4sgKkwwjE

115. Why a transistor cannot be used as a

rectifier ?

° Watch Video Solution

116. Consider a npn transistor with its base-
emiter junction forward biased and collector
base junction reverse biased. Which of the

following statements are true?

o Watch Video Solution



https://dl.doubtnut.com/l/_2otoGfjaAlJg
https://dl.doubtnut.com/l/_5jA6aI7PRAAy
https://dl.doubtnut.com/l/_irdEAUcnTwuo

117. In only one of the circuits given below, the

lamp L lights. Which circuit is it? Given reason

for your answer.

° Watch Video Solution

118. In the circuit shown in Fig.a voltage V is
connected across lamp L. What changes would

occur at lamp and the voltage V, if the


https://dl.doubtnut.com/l/_irdEAUcnTwuo
https://dl.doubtnut.com/l/_E6uIGnBCBE7N

resistance R is reduced in value?

o Watch Video Solution

119. Draw circuit diagram of common base

amplifier using p-n-p transistor.

° Watch Video Solution



https://dl.doubtnut.com/l/_E6uIGnBCBE7N
https://dl.doubtnut.com/l/_ClJcJb8mjuVr
https://dl.doubtnut.com/l/_uw3lVywwAAI3

120. Discuss the working of p-n-p transistor as

an amplifier in common emitter mode.

o Watch Video Solution

121. Discuss the working of p-n-p transistor as

an amplifier in common emitter mode.

o Watch Video Solution

122. Why the output voltage is out of phase

with the input voltage ina common emitter


https://dl.doubtnut.com/l/_uw3lVywwAAI3
https://dl.doubtnut.com/l/_v116ipJrO1F0
https://dl.doubtnut.com/l/_r40bpHl4rAQd

transistor amplifier?

o Watch Video Solution

123. Draw the circuit of a transistor as an

amplifier.

° Watch Video Solution

124. Define current gains, a and § of a

transistor.

o Watch Video Solution



https://dl.doubtnut.com/l/_r40bpHl4rAQd
https://dl.doubtnut.com/l/_J3dzoG62aCKx
https://dl.doubtnut.com/l/_bv9GLa9N6lya

125. Discuss the working of n-p-n transistor as

an amplifier in common base mode.

° Watch Video Solution

126. Write the relation between current gains

a and g

o Watch Video Solution



https://dl.doubtnut.com/l/_bv9GLa9N6lya
https://dl.doubtnut.com/l/_X6Qpn6owc4D0
https://dl.doubtnut.com/l/_jRJGvPBIYDHv

127. A transistor has a current gain of 30. If the
collector resistance is 6k€2, input resistance is

1kS) calculate its voltage gain.

o Watch Video Solution

128. AC current gain for transistor in common
emitter amplifier is 20. If input and output
resistances are 2k{) and HK() respectively,

find: Voltage gain

o Watch Video Solution



https://dl.doubtnut.com/l/_8WH2dCVBe2N3
https://dl.doubtnut.com/l/_2gWWSwinCN4i

129. AC current gain for transistor in common
emitter amplifier is 20. If input and output
resistances are 2k} and 5K() respectively,

find: Power gain

o Watch Video Solution

130. What is an oscillator ? Draw a labelled
circuit diagram for an oscillator using PNP
transistorWhat is the function of feed back

coil in it ? Write an expression for the


https://dl.doubtnut.com/l/_2gWWSwinCN4i
https://dl.doubtnut.com/l/_sUXviODA7xGR
https://dl.doubtnut.com/l/_4wdbbQJ5up3G

frequency of waves produced by it.What is the

use of waves produced by it ?

° Watch Video Solution

131. What is an oscillator ? Draw a labelled
circuit diagram for an oscillator using PNP
transistorWhat is the function of feed back
coil in it ? Write an expression for the
frequency of waves produced by it.What is the

use of waves produced by it ?

° Watch Video Solution



https://dl.doubtnut.com/l/_4wdbbQJ5up3G
https://dl.doubtnut.com/l/_wtSozfqqopkk

132. Explain the advantages and disadvanatges
of semiconducting devices as compared to

vaccum tube devices.

o Watch Video Solution

133. Explain the advantages and disadvanatges
of semiconducting devices as compared to

vaccum tube devices.

o Watch Video Solution



https://dl.doubtnut.com/l/_wtSozfqqopkk
https://dl.doubtnut.com/l/_BeIBeApt5bP3
https://dl.doubtnut.com/l/_fTNwMRKKkH2R

134.In a p-n junction diode, the current | can

eV
B

be expressed as I = I exp( ) where I

is called the reverse saturation current, V is
the voltage across the diode and is positive
for forward bias and negative for reverse bias,

and | is the current through the diode, kg is

the Boltzmann constant (8.6>< 10_5%)

and T is the absolute temperature. If for a
given diode I, = 5 x 10?4 and T = 300 K,
then - What will be the increase in the current
if the voltage across the diode is increased

from 0.6 Vto 0.7 V?


https://dl.doubtnut.com/l/_onB7khjhgq9l

O Watch Video Solution

135. In a p-n junction diode, the current | can

eV
b d I =1 —1
e expressed as 0 (exp( kT ) )

where | O is called the reverse saturation
current, V is the voltage across the diode and
is positive for forward bias and negative for
reverse bias, and | is the current through the
diode, k B is th Boltzmann constant (8.6xx 10"
-5 eV/K) and T is the absolute temperature. If

for a given diode | 0 =5 xx 10" -12 Aand T =


https://dl.doubtnut.com/l/_onB7khjhgq9l
https://dl.doubtnut.com/l/_hzqyKq6L5PWT

300 K, then - What will be the forward current

at a forward voltage of 0.6 V?

O Watch Video Solution

136. In a p-n junction diode, the current | can

eV ) where I
T

be expressed as I = I exp
2kp

is called the reverse saturation current, V is

the voltage across the diode and is positive

for forward bias and negative for reverse bias,

and | is the current through the diode, kg is th

Boltzmann constant (8.6 X 10_5%) and T


https://dl.doubtnut.com/l/_hzqyKq6L5PWT
https://dl.doubtnut.com/l/_2ZUFkmwAuo1M

is the absolute temperature. If for a given
diode I, = 5 x 10 124 and T = 300 K, then -
What is the dynamic resistance when the

voltage is increased to 0.7 V from 0.6 V?

o Watch Video Solution

137. In a p-n junction diode, the current | can

eV
b d I =1 —1
e expressed as 0 (exp( kT ) )

where | 0 is called the reverse saturation

current, V is the voltage across the diode and

is positive for forward bias and negative for


https://dl.doubtnut.com/l/_2ZUFkmwAuo1M
https://dl.doubtnut.com/l/_0GYsF6MNwoan

reverse bias, and | is the current through the
diode, k B is th Boltzmann constant (8.6xx
10”-5 eV/K) and T is the absolute temperature.
If for a given diode | 0=5xx 10" -12°Aand T =
300 K, then - What will be the current if

reverse bias voltage changes from 1V to 2 V?

O Watch Video Solution

138. An n-type semiconductor is the one which
has excess of free electrons and p-type

semiconductor is deficient in these. When a p-


https://dl.doubtnut.com/l/_0GYsF6MNwoan
https://dl.doubtnut.com/l/_Q3Fvl95dcRpJ

n junction is formed, the electrons should flow
from n to p region. But all the electrons do

not do so. Explain, why.

o Watch Video Solution

139. The output E of an alternating voltage
supply of frequency 50 Hz is shown in Fig.
From this Fig, state

(i) value of time ¢,

(i) peak voltageE, (iii) root mean square

voltage E,


https://dl.doubtnut.com/l/_Q3Fvl95dcRpJ
https://dl.doubtnut.com/l/_RBo2a1IiBgEi

(iv) mean supply is connected in series with a
resistance of 2.4(), calculate the mean power

dissipated in the resistor.

o Watch Video Solution



https://dl.doubtnut.com/l/_RBo2a1IiBgEi

140. The output E of an alternating voltage
supply of frequency 50 Hz is shown in Fig.
From this Fig, state

root mean square voltage E,

o Watch Video Solution



https://dl.doubtnut.com/l/_QYIVbw3Me7zS

141. The output E of an alternating voltage
supply of frequency 50 Hz is shown in Fig.
From this Fig, state

(i) value of time ¢,

(i) peak voltageE, (iii) root mean square
voltage E,

(iv) mean supply is connected in series with a
resistance of 2.4(}, calculate the mean power

dissipated in the resistor.


https://dl.doubtnut.com/l/_fbeOyjMePthn

° Watch Video Solution

142. A sinsusoidal alternating voltage is to be
rectified. Suggest one advantage of full-wave
rectification as compared with half-wave

rectification.



https://dl.doubtnut.com/l/_fbeOyjMePthn
https://dl.doubtnut.com/l/_uy7HMTzG8ask

Watch Video Solution

143. An ideal transformer has 5,000 turns on
its primary coil . It is to be used to convert a
mains supply of 230 Vito an alternating
voltage having a peak value of 9.0 V. Calculate

the number of turns on the secondary coil.

o Watch Video Solution



https://dl.doubtnut.com/l/_uy7HMTzG8ask
https://dl.doubtnut.com/l/_DLxET5yYlLMM

144. The circuit shown in the figure contains
two diodes each with a forward resistance of
302 and with infinite backward resistance. If
the battery is 3 V, the current through the

10012 resistance (in ampere)

(LLT. 1
i, RAy=150 0
P d——
|n":l A= 50 0
| Fly= 100 0 |
— |

BY

° Watch Video Solution



https://dl.doubtnut.com/l/_FTVz9kf6N3rk
https://dl.doubtnut.com/l/_zmy6FSlJthgf

145. A block diagram for an electronic sensor is

shown in the ﬁgure

In figure name the boxes A and B.

° Watch Video Solution

Exercise

1. Explain the two processes involved in the

formation of a p-n junciton diode. Hence


https://dl.doubtnut.com/l/_zmy6FSlJthgf
https://dl.doubtnut.com/l/_XBE37J04DYWx

defien the term"barrier potential".

o Watch Video Solution

2. Describe briefly, with the help of a diagram,
the role of the two important process involved

in the formation of a p-n junction.

o Watch Video Solution

3. What do you mean by depletion region in a

p-n junction ?


https://dl.doubtnut.com/l/_XBE37J04DYWx
https://dl.doubtnut.com/l/_IgrlI0cuFY9B
https://dl.doubtnut.com/l/_E7GcLei2SUNh

° Watch Video Solution

4. Explain the terms depletion layer and

potential barrier for a junction diode.

o Watch Video Solution

5. Explain the terms depletion layer and

potential barrier for a junction diode.

° Watch Video Solution



https://dl.doubtnut.com/l/_E7GcLei2SUNh
https://dl.doubtnut.com/l/_HHPmHH3UtvWB
https://dl.doubtnut.com/l/_nDWJpOnGsc3Q
https://dl.doubtnut.com/l/_CwBsPaxXOJf4

6. Explain the two processes involved in the
formation of a p-n junciton diode. Hence

defien the term"barrier potential".

° Watch Video Solution

7. Explain forward bias and reverse bias of the

junction diode.

o Watch Video Solution



https://dl.doubtnut.com/l/_CwBsPaxXOJf4
https://dl.doubtnut.com/l/_NXEGaujsaOII

8. Explain forward bias and reverse bias of the

junction diode.

o Watch Video Solution

9. Explain forward bias and reverse bias of the

junction diode.

o Watch Video Solution



https://dl.doubtnut.com/l/_7hNDFVhZYHZe
https://dl.doubtnut.com/l/_BKSZjsTRU4TA

10. With the help of circuit diagram, explain
theV-l characteristics of p-n junction diode in

reverse biasing.

o Watch Video Solution

11. Draw a circuit diagram with a p-n junction

in forward bias.

o Watch Video Solution



https://dl.doubtnut.com/l/_mBHb842lLc6X
https://dl.doubtnut.com/l/_6EENQLT2FfKI

12. With the help of circuit diagram, explain
theV-l characteristics of p-n junction diode in

forward biasing.

o Watch Video Solution

13. Draw a circuit diagram with a p-n junction

in forward bias.

o Watch Video Solution



https://dl.doubtnut.com/l/_r4ol7fHknCtF
https://dl.doubtnut.com/l/_u8JcCwOzN8TY

14. Explain with the help of circuit diagram,
how V-l characteristics of pn junction diode

are obtained in forward biasing.

o Watch Video Solution

15. With the help of circuit diagram, explain
theV-l characteristics of p-n junction diode in

reverse biasing.

o Watch Video Solution



https://dl.doubtnut.com/l/_L3MRBnM4EUqh
https://dl.doubtnut.com/l/_Y7u5toAuQGhg
https://dl.doubtnut.com/l/_cUW9wxtD760S

16. Define the term dynamic resistance of a p-n

junction diode.

° Watch Video Solution

17. Define Rectification. With the help a circuit
diagram explain the working of p-n junction

diode as a half wave rectifier.

° Watch Video Solution



https://dl.doubtnut.com/l/_cUW9wxtD760S
https://dl.doubtnut.com/l/_RmeZ67SG25im

18. With the help of circuit diagram explain

working of junction diode as full wave rectifier.

o Watch Video Solution

19. Draw the circuit diagram of a half wave

rectifier using a junction diode.

o Watch Video Solution



https://dl.doubtnut.com/l/_BcFrU7ZQPq2S
https://dl.doubtnut.com/l/_71Y536RxzAF9

20. Draw the circuit diagram of a half wave

rectifier using a junction diode.

o Watch Video Solution

21. What is rectifier ? Explain the working of
junction diode as a full wave rectifier, with

diagram.

o Watch Video Solution



https://dl.doubtnut.com/l/_30gXXqCRE6zP
https://dl.doubtnut.com/l/_whtjHWoniUqb

22. What is rectifier ? Explain the working of
junction diode as a full wave rectifier, with

diagram.

o Watch Video Solution

23. With the help of suitable diagrams, explain
the function of p-n junction diode as full wave

rectifier.

o Watch Video Solution



https://dl.doubtnut.com/l/_2E73ivUkOD2d
https://dl.doubtnut.com/l/_0f9hbgKUVZQb
https://dl.doubtnut.com/l/_JonzQ0gOGGMb

24. Draw a labelled circuit diagram of a full

wave rectifier using junction diodes.

° Watch Video Solution

25. With the help of circuit diagram explain

working of junction diode as full wave rectifier.

o Watch Video Solution



https://dl.doubtnut.com/l/_JonzQ0gOGGMb
https://dl.doubtnut.com/l/_jitA8bgl5gUa

26. Draw a circuit diagram with a p-n junction

in forward bias.

o Watch Video Solution

27. Draw a circuit diagram with a p-n junction

atreverse bias.

o Watch Video Solution



https://dl.doubtnut.com/l/_q6BgIcyBZIoR
https://dl.doubtnut.com/l/_liOM246hpVoy

28. What the help of a diagram, show that
biasing of a light emitting diode (LED). Give its
two advantages over conventional

incandescent lamps.

o Watch Video Solution

29. Name the semiconductor device that can
be used to regulate an unregulated d.c. power
supply. With the help of IV characteristics of

this device, explain its working principle.

| & I


https://dl.doubtnut.com/l/_nTXUiWxACNat
https://dl.doubtnut.com/l/_dDQaxPndb0PY

| ¥ Watch Video Solution |

30. Name the device which is used as a
voltage regulator. Draw the necessary circuit

diagram and explain its working.

o Watch Video Solution

31. Wha tis a zener diode? How is it
symbollically represented? With the help of a
circuit diagram, explain the use of zener diode

as a voltage stabilizer


https://dl.doubtnut.com/l/_dDQaxPndb0PY
https://dl.doubtnut.com/l/_mFqdHLsPRRKi
https://dl.doubtnut.com/l/_FFAWZs1clEgP

° Watch Video Solution

32. What is Zener diode?

° Watch Video Solution

33. Write briefly, how a Zener diode acts as

voltage regulator.

o Watch Video Solution



https://dl.doubtnut.com/l/_FFAWZs1clEgP
https://dl.doubtnut.com/l/_LUufKvaMJvjb
https://dl.doubtnut.com/l/_2dBVow2SoLD0

34.What is the most common application of a

zener diode?

° Watch Video Solution

35. In figure shows the V-l characterstics of

semiconductor diode.


https://dl.doubtnut.com/l/_TS5WU4hD63uA
https://dl.doubtnut.com/l/_Gtrt1Va2pzqF

Identify

the semiconductor diode.

o Watch Video Solution

36. In figure shows the V-l characteristics of
semiconductor diode. Draw the circuit

diagram to obtain the given characteristic of


https://dl.doubtnut.com/l/_Gtrt1Va2pzqF
https://dl.doubtnut.com/l/_2v4ZeTFyDIIu

this device.

o Watch Video Solution

37. In figure shows the V-l characterstics of

semiconductor diode.


https://dl.doubtnut.com/l/_2v4ZeTFyDIIu
https://dl.doubtnut.com/l/_IuhV43OZdMBN

Briefly
explain, how this diode can be used as a

voltage regulator.

o Watch Video Solution

38. Draw the «current versus voltage

characteristics curve of a Zener diode. Indicate


https://dl.doubtnut.com/l/_IuhV43OZdMBN
https://dl.doubtnut.com/l/_EKIY57Y7Uen9

the position of Zener voltage. Draw a labelled
circuit diagram of a d.c. voltage regulator

using a Zener diode.

o Watch Video Solution

39. Write in brief about Photo-diodes.

o Watch Video Solution

40. What is Zener diode?

o Watch Video Solution



https://dl.doubtnut.com/l/_EKIY57Y7Uen9
https://dl.doubtnut.com/l/_tlPbZSVDf39H
https://dl.doubtnut.com/l/_cmjWXeC0rYMI

41. Draw a circuit diagram to show how a

photodiode is biased.

° Watch Video Solution

42. Distinguish between the light emitting

diode and photo diode.

o Watch Video Solution



https://dl.doubtnut.com/l/_cmjWXeC0rYMI
https://dl.doubtnut.com/l/_1IT7HP7Fxur7
https://dl.doubtnut.com/l/_v8vTzFeQ0u2S

43. What the help of a diagram, show that
biasing of a light emitting diode (LED). Give its
two advantages over conventional

incandescent lamps.

o Watch Video Solution

44, Explain, with the help of a schematic
diagram, the principle and working of a Light
Emiting Diode. What criterion is kept in mind

while choosing the semiconductor material for


https://dl.doubtnut.com/l/_ji2sOGUNaF7B
https://dl.doubtnut.com/l/_NMtNEb7BPWPO

such a device ? Write any two advantages of
light emiting diode over conventional

incandescent lamps.

o Watch Video Solution

45. Mention two types of junction transistor.

How are they represented.

° Watch Video Solution



https://dl.doubtnut.com/l/_NMtNEb7BPWPO
https://dl.doubtnut.com/l/_FwURtOp02UF0

46. Write the function of base region of a
transistor. Why is the region made thin and

slightly doped?

o Watch Video Solution

47. What is transistor ? Give the symbols of n-

p-n and p-n-p transistor.

° Watch Video Solution



https://dl.doubtnut.com/l/_BtwDJGFpNjd3
https://dl.doubtnut.com/l/_6nv2kDgi0Ojk

48. What is transistor? Give symbols of p-n-p

and n-p-n transistor.

° Watch Video Solution

49. With the help of circuit diagram, explain
the working of transistor as a common emitter

amplifier.

° Watch Video Solution



https://dl.doubtnut.com/l/_u7kqfYWFdXfZ
https://dl.doubtnut.com/l/_U0pxJY0TVyti

50. With the help of a circuit diagram, explain

the action of a N-P-N junction transistor.

° Watch Video Solution

51. With the help of a circuit diagram, explain

the action of a N-P-N junction transistor.

o Watch Video Solution



https://dl.doubtnut.com/l/_eZFjvqvpw2qB
https://dl.doubtnut.com/l/_U5d3eVoGtia5

52. What is transistor ? Give the symbols of n-

p-n and p-n-p transistor.

° Watch Video Solution

53. Draw the circuit arrangement for studying
the output characterstics of n-p-n transistor in
CE configuration. Explain how the output

characterstics is obtained.

o Watch Video Solution



https://dl.doubtnut.com/l/_xZTEharIIZXO
https://dl.doubtnut.com/l/_bGS0mDBjWh94
https://dl.doubtnut.com/l/_II7mzErApOei

54. Draw the circuit arrangement for studying
the output characterstics of n-p-n transistor in
CE configuration. Explain how the output

characterstics is obtained.

o Watch Video Solution

55. Draw the circuit arrangement for studying
the output characterstics of n-p-n transistor in
CE configuration. Explain how the output

characterstics is obtained.

o Watch Video Solution



https://dl.doubtnut.com/l/_II7mzErApOei
https://dl.doubtnut.com/l/_au2QslPLxuaC

56. Draw the circuit arrangement for studying
the output characterstics of n-p-n transistor in
CE configuration. Explain how the output

characterstics is obtained.

° Watch Video Solution

57. Explain with diagram, the working of a

transistor as a common-emitter amplifier.

o Watch Video Solution



https://dl.doubtnut.com/l/_au2QslPLxuaC
https://dl.doubtnut.com/l/_qkFMS03nyS8c
https://dl.doubtnut.com/l/_NQgtAgvrwzaF

58. Explain with diagram, the working of a

transistor as a common-emitter amplifier.

° Watch Video Solution

59. Explain , why the input resistance of a

transistor is low and output resistance is high.

o Watch Video Solution



https://dl.doubtnut.com/l/_NQgtAgvrwzaF
https://dl.doubtnut.com/l/_eYJv4gZMEcac
https://dl.doubtnut.com/l/_cB1MvUPxi6o4

60. If the emitter and base of n-p-n transistor
have same doping concentration, explain, how
will the collector and base currents be

affected.

° Watch Video Solution

61. Discuss the working of p-n-p transistor as

an amplifier in common emitter mode.

o Watch Video Solution



https://dl.doubtnut.com/l/_mxyr8MYUIzlj
https://dl.doubtnut.com/l/_rMRFFuZX6l45
https://dl.doubtnut.com/l/_rNYmbd0Z8whp

62. What is an amplifier?

o Watch Video Solution

63. With the help of a circuit diagram, explain

the action of a N-P-N junction transistor.

° Watch Video Solution

64. Discuss the working of n-p-n transistor as

an amplifier in common base mode.

| & I


https://dl.doubtnut.com/l/_rNYmbd0Z8whp
https://dl.doubtnut.com/l/_xm1fcSHENljg
https://dl.doubtnut.com/l/_yHpdETFBzRe3

| ¥ Watch Video Solution |

65. Discuss the working of p-n-p transistor as

an amplifier in common emitter mode.

o Watch Video Solution

66. Discuss the working of n-p-n transistor as

an amplifier in common base mode.

o Watch Video Solution



https://dl.doubtnut.com/l/_yHpdETFBzRe3
https://dl.doubtnut.com/l/_zr8qnoXkPTDy
https://dl.doubtnut.com/l/_ZLarmFaQ2joz
https://dl.doubtnut.com/l/_32Bvgjw2lZY2

67. What is an amplifier ? Draw a circuit
diagram for an amplifier withPNP transistor in
common emitter configuration. Also define
current gain, voltage gain and power gain for

it.

o Watch Video Solution

68. In the n-p-n transistor circuit shown in the

figure.


https://dl.doubtnut.com/l/_32Bvgjw2lZY2
https://dl.doubtnut.com/l/_jnzy1MKmau5K

v What is
the biasing. Between emitter base and

collector-base junctions?

o Watch Video Solution

69. What is an amplifier ? Draw a circuit
diagram for an amplifier withPNP transistor in

common emitter configuration. Also define


https://dl.doubtnut.com/l/_jnzy1MKmau5K
https://dl.doubtnut.com/l/_8QyklnEGe5Jy

current gain, voltage gain and power gain for

it.

o Watch Video Solution

70. With the help of lebelled circuit diagram,
discuss the working of transistor as a common
emitter amplifierFind the phase relationship
between input and output signals. Also define

its voltage gain.

o Watch Video Solution



https://dl.doubtnut.com/l/_8QyklnEGe5Jy
https://dl.doubtnut.com/l/_ekUajUPtGuKa
https://dl.doubtnut.com/l/_VDfm2Ey4Wz3E

71. With the help of lebelled circuit diagram,
discuss the working of transistor as a common
emitter amplifierFind the phase relationship
between input and output signals. Also define

its voltage gain.

o Watch Video Solution

72. With the help of lebelled circuit diagram,
discuss the working of transistor as a common

emitter amplifierFind the phase relationship


https://dl.doubtnut.com/l/_VDfm2Ey4Wz3E
https://dl.doubtnut.com/l/_6v65GqBHwzVv

between input and output signals. Also define

its voltage gain.

° Watch Video Solution

73. With the help of circuit diagram, explain
the working of transistor as a common emitter

amplifier.

° Watch Video Solution



https://dl.doubtnut.com/l/_6v65GqBHwzVv
https://dl.doubtnut.com/l/_KpTTGgjrJ7Mi

74. With the help of circuit diagram, explain
the working of transistor as a common emitter

amplifier.

o Watch Video Solution

75. Discuss the working of n-p-n transistor as

an amplifier in common base mode.

° Watch Video Solution



https://dl.doubtnut.com/l/_mknVh7tATKqs
https://dl.doubtnut.com/l/_pVu6oztYeuXy

76. Define d.c. current gain in common base
and common emitter amplifier. Also find a

relation between them.

o Watch Video Solution

77. With the help of circuit diagram, explain

the working of transistor as a oscillator.

° Watch Video Solution



https://dl.doubtnut.com/l/_U7HHekLskpNd
https://dl.doubtnut.com/l/_R5FMjNF2go2U

78. With the help of circuit diagram, explain

the working of transistor as a oscillator.

° Watch Video Solution

79. With the help of circuit diagram, explain

the working of transistor as a oscillator.

o Watch Video Solution



https://dl.doubtnut.com/l/_cjSC7dWBso4R
https://dl.doubtnut.com/l/_UdUE0Dusu8sE

80. What is an electric oscillator ? With the
help of labelled diagram, explain the use of

junction transistor as.an oscillator.

o Watch Video Solution

81. Draw the circuit of a transistor as an

amplifier.

° Watch Video Solution



https://dl.doubtnut.com/l/_3zG4Aus3fscZ
https://dl.doubtnut.com/l/_95CANzfffz9P

82. A transistor can be used as a switch by
operating it in its cut off state or saturation

state. (Yes/No)

o Watch Video Solution

83. Explain the advantages and disadvanatges
of semiconducting devices as compared to

vaccum tube devices.

o Watch Video Solution



https://dl.doubtnut.com/l/_hlb7KxzKfv1n
https://dl.doubtnut.com/l/_8spm0AWYvxEw
https://dl.doubtnut.com/l/_pLXeOW207aaM

84. Explain the advantages and disadvanatges
of semiconducting devices as compared to

vaccum tube devices.

o Watch Video Solution

85. give important uses of integrated circuits. .

o Watch Video Solution



https://dl.doubtnut.com/l/_pLXeOW207aaM
https://dl.doubtnut.com/l/_7TNAmxZJkA2t

86. Explain the terms depletion layer and

potential barrier for a junction diode.

° Watch Video Solution

87. Explain the terms depletion layer and

potential barrier for a junction diode.

o Watch Video Solution



https://dl.doubtnut.com/l/_1zzBpNaPkH8p
https://dl.doubtnut.com/l/_e4EK1g6WuhRv

88. How does the junction width change when

a p-n junction is forward biased?

o Watch Video Solution

89. What is a p-n junction ? Explain with the
help of a diagram, how depeletion layer is
formed near the junction. Also explain what
happens to this layer, when the junction is

reversed biased.

o Watch Video Solution



https://dl.doubtnut.com/l/_elQ9u9p8myxd
https://dl.doubtnut.com/l/_XsoQj9Xcx7Sr

90. Explain how the depletion layer and barrier

potential are formed in pn junction diode ?

o Watch Video Solution

91. P-N junction is:

o Watch Video Solution



https://dl.doubtnut.com/l/_XsoQj9Xcx7Sr
https://dl.doubtnut.com/l/_opqMhR2OkxWU
https://dl.doubtnut.com/l/_IpTkNZiWOelo

92. What is junction diode ? How is depletion
layer formed ? Draw its forward and reverse

bias characteristics by showing biasing of

diodes ?

o Watch Video Solution

93. Answer the following questions: Why is the
current under reverse bias independent to the

applied potential up to a critical voltage?

o Watch Video Solution



https://dl.doubtnut.com/l/_PW9mrif3mkAE
https://dl.doubtnut.com/l/_mgox8DxSRNan

94. Answer the following questions: Why does
the reverse current show a sudden increase at

the critical voltage?

° Watch Video Solution

95. Draw the voltage current characterstics of

a p-n junction bias?

o Watch Video Solution



https://dl.doubtnut.com/l/_mgox8DxSRNan
https://dl.doubtnut.com/l/_AUFBtudRTkWm
https://dl.doubtnut.com/l/_HR9ohvZVN4qr
https://dl.doubtnut.com/l/_rHgTZ5IT1K3g

96. The resistance of a p-n junction is low,
when forward biased and is high, when reverse

is biased. Explain.

o Watch Video Solution

97. Explain with the help of circuit diagram,
how V-l characteristics of pn junction diode

are obtained in forward biasing.

o Watch Video Solution



https://dl.doubtnut.com/l/_rHgTZ5IT1K3g
https://dl.doubtnut.com/l/_ru8IRbRCZOhE

98. With the help of circuit diagram, explain
theV-l characteristics of p-n junction diode in

reverse biasing.

o Watch Video Solution

99. Define Rectification. With the help a circuit
diagram explain the working of p-n junction

diode as a half wave rectifier.

o Watch Video Solution



https://dl.doubtnut.com/l/_aIofdCVQbo8e
https://dl.doubtnut.com/l/_V1AYKi3lEc8Y
https://dl.doubtnut.com/l/_ovm23xaTQjYS

100. Define Rectification. With the help a
circuit diagram explain the working of p-n

junction diode as a half wave rectifier.

o Watch Video Solution

101. Define Rectification. With the help a circuit
diagram explain the working of p-n junction

diode as a half wave rectifier.

o Watch Video Solution



https://dl.doubtnut.com/l/_ovm23xaTQjYS
https://dl.doubtnut.com/l/_boLCrkxOCTWS
https://dl.doubtnut.com/l/_Tlva1mPPFSLu

102. What is rectifier ? Explain the working of
junction diode as a full wave rectifier, with

diagram.

o Watch Video Solution

103. State the principle of working of p-n-diode
as a rectifier. Explain with the help of a circuit
diagram, the use of p-n diode as a full wave
rectifier. Draw a sketch of the input and output

waveforms.

o Watch Video Solution



https://dl.doubtnut.com/l/_Tlva1mPPFSLu
https://dl.doubtnut.com/l/_uB3LcMx4Bzob

104. Discuss the construction and working of

diode as full wave rectifier

° Watch Video Solution

105. Draw a labelled circuit diagram of a full

wave rectifier using junction diodes.

o Watch Video Solution



https://dl.doubtnut.com/l/_uB3LcMx4Bzob
https://dl.doubtnut.com/l/_o97rsnPyFv1U
https://dl.doubtnut.com/l/_XSXaHrNfIXW8

106. Draw a labelled circuit diagram of a full

wave rectifier using junction diodes.

° Watch Video Solution

107. With the help of a circuit diagram, explain

the action of a N-P-N junction transistor.

o Watch Video Solution

108. What is light emitting diode (LED)?



https://dl.doubtnut.com/l/_DOIbP08vbPk4
https://dl.doubtnut.com/l/_rxQfLlWir8yQ
https://dl.doubtnut.com/l/_XXCqUrmzBUJP

o Watch Video Solution

109. What is transistor ? Give the symbols of n-

p-n and p-n-p transistor.

o Watch Video Solution

110. What is transistor? Give symbols of p-n-p

and n-p-n transistor.

o Watch Video Solution



https://dl.doubtnut.com/l/_XXCqUrmzBUJP
https://dl.doubtnut.com/l/_pR8qTOdQOzlT
https://dl.doubtnut.com/l/_6pVDlCmwbDNm
https://dl.doubtnut.com/l/_rqvd4s9H01m4

111. With the help of a circuit diagram, explain

the action of a N-P-N junction transistor.

° Watch Video Solution

112. With the help of circuit diagram, explain
the working of transistor as a common emitter

amplifier.

° Watch Video Solution



https://dl.doubtnut.com/l/_rqvd4s9H01m4
https://dl.doubtnut.com/l/_qsIzge9bVV4j

113. Draw circuit diagram of common base

amplifier using p-n-p transistor.

° Watch Video Solution

114. Draw the circuit arrangement for studying
the output characterstics of n-p-n transistor in
CE configuration. Explain how the output

characterstics is obtained.

o Watch Video Solution



https://dl.doubtnut.com/l/_xYCpMFlv9Odl
https://dl.doubtnut.com/l/_gZ6yplFanQil
https://dl.doubtnut.com/l/_iZigti6gbvJM

115. For an n-p-n transistor in the common
emitter configuration, draw a labelled circuit
diagram of an arrangement for measuring the
collector current as a function of colelctor
emiter voltage for at least wo different vlaue
sof base current. Draw the shape of the curves

obtained. Define the terms outpout resistance

° Watch Video Solution

116. In a p-n-p transistor circuit, the collector

current is 10mA , If 90% of the electrons


https://dl.doubtnut.com/l/_iZigti6gbvJM
https://dl.doubtnut.com/l/_MMIZvsikjgTy

emitted reach the collector , what is base

current ?

° Watch Video Solution

117. With the help of circuit diagram, explain
the working of transistor as a common emitter

amplifier.

° Watch Video Solution



https://dl.doubtnut.com/l/_MMIZvsikjgTy
https://dl.doubtnut.com/l/_3I846fxOhysy

118. Draw the circuit arrangement for studying
the output characterstics of n-p-n transistor in
CE configuration. Explain how the output

characterstics is obtained.

° Watch Video Solution

119. Define input resistance of a transistor

used in its common emitter configuration.

o Watch Video Solution



https://dl.doubtnut.com/l/_wMNP8SUOzB8Q
https://dl.doubtnut.com/l/_NJOnql6RqqLm
https://dl.doubtnut.com/l/_I7ip0KiDYhuX

120. Define input resistance of a transistor

used in its common emitter configuration.

° Watch Video Solution

121. Define input resistance of a transistor

used in its common emitter configuration.

o Watch Video Solution



https://dl.doubtnut.com/l/_I7ip0KiDYhuX
https://dl.doubtnut.com/l/_dytljxvqJbrI

122. Discuss the working of n-p-n transistor as

an amplifier in common base mode.

° Watch Video Solution

123. Draw circuit diagram of common base

amplifier using p-n-p transistor.

o Watch Video Solution



https://dl.doubtnut.com/l/_4C45RgPpOpNW
https://dl.doubtnut.com/l/_ovt9TW0OsJr3

124. If the emitter and base of n-p-n transistor
have same doping concentration, explain, how
will the collector and base currents be

affected.

° Watch Video Solution

125. With the help of labelled circuit diagram,

explainthe working of transistor as a switch.

o Watch Video Solution



https://dl.doubtnut.com/l/_Pm8mPNNhPcVL
https://dl.doubtnut.com/l/_CIhUOjhKYKQb
https://dl.doubtnut.com/l/_NfHlabpl3DpY

126. With the help of circuit diagram, explain
the working of transistor as a common emitter

amplifier.

o Watch Video Solution

127. Draw a simple circuit of a CE transistor
amplifier. Explain its working. Show that the

voltage gain, Ay of the amplifier is given by
B BacRL

A, = wheref 4. is the current gain,
ri

R; is the load resistance andr; is the input

resistance of the transistor. What is the


https://dl.doubtnut.com/l/_NfHlabpl3DpY
https://dl.doubtnut.com/l/_cZI3gCZaZQbI

significance of the negative sign in the

expression for the voltage gain?

° Watch Video Solution

128. What is an amplifier ? Draw a circuit
diagram for an amplifier withPNP transistor in
common emitter configuration. Also define
current gain, voltage gain and power gain for

it.

° Watch Video Solution



https://dl.doubtnut.com/l/_cZI3gCZaZQbI
https://dl.doubtnut.com/l/_a68y5CRLN2zW
https://dl.doubtnut.com/l/_gDYkA4zH2Svz

129. Discuss the working of p-n-p transistor as

an amplifier in common emitter mode.

o Watch Video Solution

130. What is an amplifier ? Draw a circuit
diagram for an amplifier withPNP transistor in
common emitter configuration. Also define
current gain, voltage gain and power gain for

it.

o Watch Video Solution



https://dl.doubtnut.com/l/_gDYkA4zH2Svz
https://dl.doubtnut.com/l/_IFTXjNsHtWAG

131. Draw the circuit arrangement for studying
the output characterstics of n-p-n transistor in
CE configuration. Explain how the output

characterstics is obtained.

° Watch Video Solution

132. Explain with diagram, the working of a

transistor as a common-emitter amplifier.

o Watch Video Solution



https://dl.doubtnut.com/l/_srcunjNQgVGW
https://dl.doubtnut.com/l/_CCkfmF8ozaOc
https://dl.doubtnut.com/l/_v2gFNOr5X7eZ

133. Differentiate between three segmetns of a
transitor on the basis of their size and level of

doping.

o Watch Video Solution

134. How is a transistor biased to be in active

state?

° Watch Video Solution



https://dl.doubtnut.com/l/_v2gFNOr5X7eZ
https://dl.doubtnut.com/l/_bozgNicG6lyH

135. With the help of a circuit diagram, explain

the action of a N-P-N junction transistor.

° Watch Video Solution

136. How the common emitter n-p-n transistor
is used as a switch? Explain with the help of a

circuit diagram.

° Watch Video Solution



https://dl.doubtnut.com/l/_665rsEhVMXxZ
https://dl.doubtnut.com/l/_maMSn8N8NbyC

137. Figure EP 14.11 shows the transfer
characterstics of a base biased CE transistor.

Which of the following statements are true?

o Watch Video Solution



https://dl.doubtnut.com/l/_shhiIst8IEIk

138. What is an electric oscillator ? With the
help of labelled diagram, explain the use of

junction transistor as.an oscillator.

o Watch Video Solution

139. What is an electric oscillator ? With the
help of labelled diagram, explain the use of

junction transistor as.an oscillator.

o Watch Video Solution



https://dl.doubtnut.com/l/_rb3o9qEptiqk
https://dl.doubtnut.com/l/_iDdBt8DFcrfZ
https://dl.doubtnut.com/l/_E3gfeNvuDXvZ

140. With the help of circuit diagram, explain

the working of transistor as a oscillator.

° Watch Video Solution

141. With the help of circuit diagram, explain

the working of transistor as a oscillator.

o Watch Video Solution



https://dl.doubtnut.com/l/_E3gfeNvuDXvZ
https://dl.doubtnut.com/l/_rGPwteuPiKoZ

142. What is an oscillator ? Draw a labelled
circuit diagram for an oscillator using PNP
transistorWhat is the function of feed back
coil in it ? Write an expression for the
frequency of waves produced by it.What is the

use of waves produced by it ?

o Watch Video Solution

143. What is an oscillator ? Draw a labelled

circuit diagram for an oscillator using PNP


https://dl.doubtnut.com/l/_8uDkWbqmSOrf
https://dl.doubtnut.com/l/_466LlXJYaRNL

transistorWhat is the function of feed back
coil in it ? Write an expression for the
frequency of waves produced by it.What is the

use of waves produced by it ?

o Watch Video Solution

144. What is an oscillator ? Draw a labelled
circuit diagram for an oscillator using PNP
transistorWhat is the function of feed back

coil in it ? Write an expression for the


https://dl.doubtnut.com/l/_466LlXJYaRNL
https://dl.doubtnut.com/l/_AQVJXFj9eieh

frequency of waves produced by it.What is the

use of waves produced by it ?

o Watch Video Solution

145. In a forward biased silicon diode, current
occurs at close to 0.7 V and increase rapdily
wiht very small further potential difference
increase. What current will flow, when there is
a 200 ohm resistor in series with the diode
with a 10 V battery across the series

combination?

| e |


https://dl.doubtnut.com/l/_AQVJXFj9eieh
https://dl.doubtnut.com/l/_jETJlzsBGnyW

& watch Video Solution I

146. A PN junction diode when forward biased
has a drop of 0.5 V which is assumed to be
independent of current. The current in excess
of 10 mA through the diode produces large
joule heating which damages the diode. If we
diode, the resistor used in series with the
diode so that the maximum current does not

exceed 5 mA

° Watch Video Solution



https://dl.doubtnut.com/l/_jETJlzsBGnyW
https://dl.doubtnut.com/l/_nHtgb0e9AZv8
https://dl.doubtnut.com/l/_BbqPMdfZxrX2

147. In the circuit shown in the figure, find the

current passing through rr and zener diode.

e

- A=800 !

s T
. T

sv 75

e

A =100Q

J_“N‘_l-._ —

-

0 e O

o Watch Video Solution

148. A certain n-p-n transistor has the common
emitter output characteristics as shown in the

figure.


https://dl.doubtnut.com/l/_BbqPMdfZxrX2
https://dl.doubtnut.com/l/_5GpziPuDs68O

Find the emitter current

Vor = 12,5V and I, = 60uA,

Br- 1, =80y
w T e
§ Sl P
1 5 L= 40pA
< 4
£ 3
- 2
1
| SR SO R T PO O O
0 5 10 i5 20
VCE(V)-—'-ZV-—)

at

° Watch Video Solution

149. A certain n-p-n transistor has the common

emitter output characteristics as shown in the

figure.


https://dl.doubtnut.com/l/_5GpziPuDs68O
https://dl.doubtnut.com/l/_7fCwHeXdB5qP

Find the Current gain’8’ at V (CE)=12.5 V and

| (b)=60 mUA..

| (mA) —
- N WS DN W
T

| UL SRS TR TN T OO NN
0 5 10 15 20
VCE(V)-—'-ZV-—)

° Watch Video Solution

150. For a common base amplifier, emitter
current is 5.2 mA and base current is 0.22 mA.

Find the current gain of the amplifier.


https://dl.doubtnut.com/l/_7fCwHeXdB5qP
https://dl.doubtnut.com/l/_ULQP65KgEixE

° Watch Video Solution

151. For a transistor working as common base
amplifer, current gain is 0.97 and base current
is 0.12 mA. Calculate the collector and emitter

current.

o Watch Video Solution

152. In a common base transistor amplifier, if

the input resistance is 200 ohm and load


https://dl.doubtnut.com/l/_ULQP65KgEixE
https://dl.doubtnut.com/l/_I1MBjsEmVMit
https://dl.doubtnut.com/l/_VeIymYbpQ0VB

resistance is 20 kiloohm, find Voltage gain
Given current gain of common base trasistor

is 0.95

o Watch Video Solution

153. In a common base transistor amplifier, if
the input resistance is 200 ohm and load
resistance is 20 kiloohm, find power gain.
Given current gain of common base trasistor

is 0.95

o Watch Video Solution



https://dl.doubtnut.com/l/_VeIymYbpQ0VB
https://dl.doubtnut.com/l/_9RZhTEH1C4iA

154. In the n-p-n transistor circuit shown in the

figure.

M
=
Y]
=

|1
4V What is

the potential difference between base and

collector

° Watch Video Solution



https://dl.doubtnut.com/l/_9RZhTEH1C4iA
https://dl.doubtnut.com/l/_keYms77TNO3N

155. In the n-p-n transistor circuit shown in the

figure.

S
|
v What is

the biasing. Between emitter base and

collector-base junctions?

o Watch Video Solution



https://dl.doubtnut.com/l/_UKpQvWv87n1T

156. Calculate emitter current for which 3 =

100 and base current I, = 20uA.

° Watch Video Solution

157. For a common emitter amplifier current
gain = 50 if the emitter current is 6.6 mA.

Calculate the collector and base current.

° Watch Video Solution



https://dl.doubtnut.com/l/_QSVJcxUO5Uju
https://dl.doubtnut.com/l/_1Ikx57zdSBqw

158. In a common-emitter mode of transistor
d.c. current gain is 20 and the emitter current

is 7 mA. Calculate base current

o Watch Video Solution

159. In a common-emitter mode of transistor
d.c. current gain is 20 and the emitter current

is 7 mA. Calculate base current

o Watch Video Solution



https://dl.doubtnut.com/l/_IEgypNMZXL6i
https://dl.doubtnut.com/l/_X4Oqkby9foIi
https://dl.doubtnut.com/l/_FsBkB8VSeAcW

160. The current gain of a transistor in a
common base arrangement is 0.95. Find the
voltage gain and power gain if the load
resistance of output circuit is 400k€2 and the

input resistance is 200(2.

o Watch Video Solution

161. A common-emitter circuit has an input
resistance of 0.6 k{2 and output resistance of
51k} . If the current gain is 64, find voltage

gain and power gain.


https://dl.doubtnut.com/l/_FsBkB8VSeAcW
https://dl.doubtnut.com/l/_9mGBKBBPQgB9

° Watch Video Solution

162. In a common emitter amplifier, using
output reisistance of 5000 ohm and input
resistance fo 20000hm, if the peak value of
input signal voltage is 10 m V and beta=50,

then the peak value of output voltage ?

° Watch Video Solution



https://dl.doubtnut.com/l/_9mGBKBBPQgB9
https://dl.doubtnut.com/l/_SM7tDGGe3Q7i

163. A transistor connected in common emitter
configuration has input resistance
R;, = 2KQand load resistance of5K(. If
B = 60 and an input signal 12 mV is applied ,

calculate the resistance gain.

o Watch Video Solution

164. For a common emitter amplifier , current
gain is 70 . If the emitter is 8.8 mA , calculate

the collector and base current . Also calculate


https://dl.doubtnut.com/l/_ca4qSRf5Awac
https://dl.doubtnut.com/l/_7Jsjg9pHk24u

current gain , when transistor is worked on

common base amplifier.

° Watch Video Solution

165. A common-emitter circuit has an input
resistance of 0.6 k{2 and output resistance of
51kQ) . If the current gain is 64, find voltage

gain and power gain.

o Watch Video Solution



https://dl.doubtnut.com/l/_7Jsjg9pHk24u
https://dl.doubtnut.com/l/_O7reWCOHAFK2

166. the input resistance of a comon-emitter
amplifier is 2k} and a.c. current gain is 20. If
the laod resistor used is 5k{) calculate the

voltage gain of the amplifier

o Watch Video Solution

167. the input resistance of a comon-emitter
amplifier is 2k€) and a.c. current gain is 20. If
the laod resistor used is b5k() calculate the

transconductance of the transistor used.

| & |


https://dl.doubtnut.com/l/_ZCRhywmY4BjL
https://dl.doubtnut.com/l/_oQsBq4xbG7Gy

| ¥ Watch Video Solution |

168. In a transistor, a change of 79 mA in
emitter current produces a change of 7.8 mA
in the collector current produces a change of
7.7 mA in the collector current. What change in
the base current is necessary to produce an

equivalent change in the collector current?

o Watch Video Solution



https://dl.doubtnut.com/l/_oQsBq4xbG7Gy
https://dl.doubtnut.com/l/_qKrqFLkKqp7y

169. Two amplifiers having voltage gains 20
and 50 are connected as shown in the figure. If
the initial input voltage is 25 mV, find the final

output voltage obtained.

LARs. 25 V]
Ap =20 Ag” =50

Vin o——  AMPUIFIER 1 -+ AMPLIFIER 2|—o

o Watch Video Solution

170. A crystal diode having internal resistance
20012 is used as a half rectifier. If the applied

voltage isV = 50sinwtvolt and load


https://dl.doubtnut.com/l/_bRWTjzfWGVES
https://dl.doubtnut.com/l/_r2nDagb2yrcL

resistance is 800(), find maximum output

current

° Watch Video Solution

171. A crystal diode having internal resistance
2001 is used as a half rectifier. If the applied
voltage isV = 50sinwtvolt and load
resistance is 800f), find maximum output

current

° Watch Video Solution



https://dl.doubtnut.com/l/_r2nDagb2yrcL
https://dl.doubtnut.com/l/_AWTI5JTmD8Vl
https://dl.doubtnut.com/l/_A2ZyElmdtHXM

172. A crystal diode having internal resistance
20012 is used as a half rectifier. If the applied
voltage isV = 50sinwtvolt and load
resistance is 800(), find maximum output

current

° Watch Video Solution

173. A crystal diode having internal resistance
20012 is used as a half rectifier. If the applied

voltage isV = 50sinwtvolt and load


https://dl.doubtnut.com/l/_A2ZyElmdtHXM
https://dl.doubtnut.com/l/_8iyKqMdXuwn6

resistance is 800(), find maximum output

current

° Watch Video Solution

174. A p-n photodiode is fabricated from a
semiconductor with band gap of 2.8 eV. Can it

detect a wavelength of 6000 nm?

° Watch Video Solution



https://dl.doubtnut.com/l/_8iyKqMdXuwn6
https://dl.doubtnut.com/l/_accyv0GdYyCB

